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1. When the interest is paid on its principal only, it is called the simple interest
but if the interest is paid on the principal as well as the accrued interest, it is
called compound interest.

When the interest is compound annually,

Amount: A=P (1+ i)
100

P: Principal

R: rate of Interest

n: No. of years

Compound interest C.I = A-P

When the interest is compound half yearly,
R

2n
Amount: A=P|1+—
200

When the interest is compound quarterly,

4n
Amount: A=P (1+ ij
400

When the interest is compound annually and the rate of interest differs
years by years,

Amount: A= P(1+ R j(u R, j(1+ R, j
100 100 100

R.R,,R, are interest rates for I, I, III years respectively.

P: Principal
R: Rate of Interest
A: Amount
n: No. of years
R nk
A=P|1+——
( 100kj
If the interest is compound annually, then k=1
If the interest is compound half yearly, then k = 2
If the interest is compound quarterly, then k = 4




If the interest is compounded annually but time of the form a% years,

then
A=P(1+ R j (1+ bR j
100 c(100)
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II. The compound interest formula is used in the following situations.

i. To find the increase or decrease in population.
ii. To find the growth of cells when the rate of growth is given
iii. To find the depreciation in the Value of Machines, utility applicants
etc.,
LNeiTou(HLD GHLDHIeM60EH6T60 dnl (h Ul IQuilell GdHTD o LGWITHSSLILBS OTBS.
1. W&H6T OFHTend 2 _UlTe DIeVeVH GHMBEN6! BRI MUl
1. Ogovselear euenTFdlenw SMILBIGH60, ouenTFd aiHld  OCaETHSHSLILGLD
UTLDSI
Lwetum(p o _usJenimidbeT SuibaHImseT Curameumnlear GCHUIDTEISHMmS
ST Mlwl

Find the compound interest for the principal in Rs. 4000, rate of interest
is 5% pa and the period is 2 years. when interest compound annually.
h. 4000 elaid OIF60 5% ouewiB Ul iguied 2 U(HL HTeVHH0 CBTHHGHID
LB Ul HeHTend HTewids. eIhCHTBIL Iy gL (D GuTIpg?

Principal Rs 5000, R = 4% pa, n = 1 2 years, interest compound half
yearly. Compound interest?

oIF60 e 5000, R = 4% oewi® euliguier, n = 1 Y2 eupLmbiseT Sien]
LOIHCHTBID U 1lg Sl L LILBSHSIBSH. Fnl (B eullg?

Principal = Rs 10000, R = 8% pa, n = 2 % years and interest
compounded yearly, C.1.="?

oFev = ep. Rs10000, R = 8% oewip euliguied n = 2 ¥ eu@pLbicbel,
T BCHTHBID au'lg gl (Bib Gumapg? C.I.=?

Principal = Rs. 30000, R = 7% for year I, R = 8% for years Il
compounded annually, C.I= ?

o1Fe 05.30,000 R =7% I eupLsdlev, R = 8% II sumLsde0, SuemiBGHTmiD
g gal Llupdeamas. ClI=7?

Find the C.I. on Rs. 12000 for 3 years at 10% pa compounded annually.
eh. 12,000, 10% ouewi®  eauliguied 3 auBHLSH60 UIGCHTHID 6l lg
gl Ll Lmeo, C.I. smemnis:

Vijay obtains a loan of Rs. 64000 against his fixed deposits. If the rate of
interest be 2.5 paise per rupee per annum, Calculate the C.I. payable
after 3 years.




alxul SHergl Bleweowmenr enaull HHUNBHEH h. 64,000 HweH LIS
QUBISGBTT. 6ul'ly alHHD QITENIYBE (H HUTWISEG 2.5 MUFT, 3 QUHLLD
ety GFedhd Geuswigul Fnl B UL I9HOHTenS HT6wIH ?

Compute the C.I. on Rs. 12000 for 2 years at 20% pa when compounded
half-yearly.

. 12,000, 20% Wi alguied 2 euBLSHe OFBTHHSGID  Fnl (B
AU YH0HTNS HMIcbH(BHH. DemIwmenih CHTBID 6ul'ly &l LLILBLLOLTIDSI.

Calculate the C.I. on Rs. 1000 at the rate of 10% pa for 18 months when
interest is compounded half-yearly.

eh. 1000, 10% <ouewi® eulguied 18  THHHe0 OCFHTBHEHGHD ol B
AU 19H0HTMD BB (HH. DmIWmenih CHTBID Ul Fnl L LI L T60.

Find the compound interest on Rs. 320000 for one year at the rate of
20% pa if the interest is compounded quarterly.

. 320000, 20% ouewIBG  eullguled  @UTeNiged  OETHEGD  Fnl (B
AU 1RHOHTND HeTSHH (HH. HTevTenih CHTBID U lg Fnl L LILIL L T6V.

Find the C.I on Rs. 24000 at 15% pa for Z%years.

524,000, 15 % oewi®  euliguied 2% aBLBIB6TND  OBTHHGD

L BHoUL195H0HTEND HT60IS:

Kumar opened a textile with an initial investment of Rs 32000, In the
first year, he incurred a loss of 5%. However, during the second year, he

earned a profit of 10% which in the third year raised to 12%% p.a.
calculate his net profit for the entire period of 3 yrs.

GWTT h. 32,000 (1PpHeSh OCFUIH @H MealdbHmLmUl HBSHHEMIT. (LP&H6L
AUMHLSHO ST 5% BULID SIewLSSHIT EHHSTVID, STEILTD  GI(HLLD
10% euTUID OQUBIBGBTT. SIGHI CLPSBTAUSHI QUHLLD et (HhE 12% % DB
® WITSHGIMBHI. (PID CPeTBl QUHL HTeVHH60 Slaufled BB GUTLID SHT6wIH:

In what time will Rs. 800 amount to Rs. 882 at 5% pa compounded
annually?

THBHMB  BTeVHHe0 5.800, ¢h. 882 b o WHD 5% e auliguied
AW BEHTHID 6ul 19 Fal HLOOLITDSHI?




In what time will Rs. 64000 amount to Rs. 68921 at 5% pa, interest being
compounded half-yearly?

THHMO  HTeVHH60  h.64,000 ep. 68921 5 2 WD, 5% ewid
QL IQuled, aully SiewTwmenih CHTBID &nl L LILGHLELTLHSI?

At what rate percent per annum, compound interest will Rs. 10000

amount to Rs. 13310 in 3 years?
b Wi Tl (B eully aiHHHe0 3 euLmB6eTe0 ap. 10,000, ep. 13,310
OLH 2 _UI(HD?

In a factory the production of scooters raise to 48400 from 40000 in 2

yrs. Find the rate of growth p.a.

@ OHTPBFTEDEVUNIED 60Tl L TH6M6  6lewlenldbend 2  aUhHLmIS6Me0 40000
l(phFH 48400 o5 o WTHaGBH. PMIGEHTHID DH6T 6UeNTFS FHATHLD
ST ?

Visal deposited Rs 200 per month for 5 yrs in a recurring deposit

account in a post office. If he received Rs 13830, find the rate of interest.
alagmed 1THDEHTHID H.200 emwl 5 GUHLMISEHHEG DlEhFe0HHH60 CHTLIT
mallll] B HISHe0 CFVSHHFAMBTET Djeuest UMM  hH.13,830  eleol60
Al aiFHD HTeNIsb.

Formulae for population growth and an article depreciation

i.

If population grows, then
Population after n years = P(l+ %)n
If population decreases, then
Population after n years = P[l—%jn
If population grows at the rate R % on I year and R, on second years, then
population after 2 years = P(1+ %) (1+ B—%]

If the value of an article is depreciate, then

Value of the article at the end of n years: V, =V, (1—%jn
If the rate of depreciation is R % for first n, years, R, for next n, years and

nl n2
so on, then the value at end of (n,+n,+...) years V =V, (1—i) (1 i j

100) " 100
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R

WAy V. =V, (1——j

100
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Ramesh deposited Rs. 7500 in a bank which pays him 12% interest per
annum compounded quarterly. What is the amount which he receives

after 9 months?

7Gwa3 eum&uled @5.7500 OLuUTHL  CFUISTBTT. ABIP  SUHEG 12
oIy aullguiled  Hmeomeni(h CHTMID  aul lgenul  CBETHHHBIBEH. 9 OTHID
ey oeuT GuBB OFHTendmUl ST ?

The population of a town is increasing at the rate of 5% pa. what will be
the population of the town on this basis after two years, if the present
population is 160007

RH BBIHH 05B6T QHTnd SLEwIgBEG 5% o WTHGBEH. BendliBLTed
Smuldear sBuTsl WsHHeT 6HTmaE 16000 6leled @Teni(h  QUIHLHBIGHT L6
D& H6IT OHTeNSH 616316017

The population of a village is 20000. if the annual birth rate is 4% and
the annual death rate 2%, Calculate the population after 2 years.

R HIMpSHHen 10EH6T GFTens 20,000 ouewi® Ll eldlsbd 4% oBE3ID
et @miy aldsd 5% 2 eumLd e 2 eten 10HH6T CHTendamul
HenThH ([HEH?

The population of a town was 160000 three years ago. If it had
increased by 3%, 2.5% and 5% in the last three years, find the present
population of the town.




3 QuBLLD (el @ BIIHH6T dbHeT OFHTensd 160000. 3  SiemwiBHere0

o1 3%, 25 % wwBp 5% o wWIhHHHHTEL, SBOUTH  DIHHBTSHH 6
D& SH6ITOHTENS  SHT60I5b.

The population of a town 2 years ago was 62500. Due to migration to
cities, it decrease every year at the rate of 4% p.a. Find its present
population.

2 QUBLID (P60 @H BBIHH6T 10HH6T COFHTensd 62500. HEBIHIBEDHDHEG L LD
QUWITOUH T DI QEUCAUTIH WG UMBHG 4% GHOBHEBH. DIH60T
SBCUTMHUW 10SH6IT CHTenH HT6wIH !

The Bacteria is a culture grows by 10% in the first hour, decreases by
10% the second hour and again increases by 10% in the third hour. If
the original count of the bacteria in a sample is 10000, find the bacteria
Count at the end of 3 hrs.

@@ WwrHfuled mewTanulT (PHed @@ el GBrHEled 10 % aleTHSIBS.
Orewi_meugl  wewll  CrrHHed 10 % GHOBIASMBH  OBBID  OBILIQULD
cpeiipreugl  wenfl  CErHHs0 10 % o widemg, (WPpHeded  omHifluied
mleTemulTeHeMesr eTewremnidbend 10000 eTelled cpaiimTaugl Wwenll GBF EmiFHluilen
HIewTEIUITH6MN 6T 6T6euTenbeNd  HIT6IH:

The Value of a residential flat constructed at a cost of Rs 100000 is
depreciating at the rate of 10% per annum. What will be its value 3 yrs
after construction?

¢h. 100000 wAHIS OBTIL @ DAGSGWOTY Guilmliy oeibsg 10 %
GxpuioTeid DL &leimgl. SULUUL{H 3 auhLld 6] 9iHen WHIL] SHTewis?

The value of a property increases every year at the rate of
5%. If its value at the end of 3 years be Rs 411540, what was its original
value at the beginning of these years?

P QFTHHer A P BCHTHID 5% e@ib aieHHe0 o WTHamg. 3
L @mHuled  iFHedr  WHIIY . 411540  etelled  GU(HLMIH6TI60
OBHTLEHHHHE0 DIH6T 2 _6WIenOWITET OFHIIL| HT6wIH?

X has given a total loan of Rs 21000 at 10% p.a. on C.I, he gives the first
part to Y, second part to Z such that they amount to the same figure at
the end of 2 and 3 yrs respectively. What is the second part amount?

X Qurdhsd  @h.21000-Hmx 10% WG LB eullguled &L emmul
QUPBIBGITT. SAUT (IPpH60 LGHemul Y eleiLeal(hdb@GHD SJewiLmbd LUGdHemul Z
LIRSS 2 eu(bLLD WBBID 3 UL HTeLHHL @B OCHTensUITS
® WL CETHHBGIBTT. BF6RILTD UGHSH OCFHTendmUl SHTewsH.




The population of a town is increasing at the rate of 6% p.a. It was
238765 in the year 2018. Find the population in the year 2016 and 2020.
R BETHHG 10HH6T OHTend PWIGCHTHID 6 % o WTHIBH. DiH
2018 6o 238765, 2016 wB@ID 2020 60 HH6 HEH6T OFHTeND SHTewIs?

The value of motor cycle 2 years ago was Rs 70000. It depreciates at the
rate of 4% p.a. Find its present value.
2 eumLld ey eh GCuormlLnT engdhdleler alewev p.  70,000. Sig

T BCHTHID 4% BHUIOTHID iDL BB DIHeT  SBOUTMHUI  DSHIIL]
SIT6E0T&:

Differnce between S.I. and C.I.

o There is no difference is S.I. and C.I. for the first conversion period.
o For 2 years, the difference is S.I. and C.I.

2
Cl-SIL=P R
100

2
For 3 years, C.I.-S.l.= P[ij (3+ij
100 100

For 4 years C.I.—S.I.:P( R jTG AR ( R jz}

+—+
100 100 \100

S.I wpmib C.I. e B 2 siten allgdSHwimgLd

® (IPpH6L IBW ITVHHMG DHelaul’ly Tl Baully eoLCw alHHwTsFId
©®6V6m6V.

2 eupLmsenrdbd S.J wppd Cl SoLCuw o efen  algHunsid

2
CJ;—SJ.::P[—B—j
100

e 3 aumLBIBErHEG S.IBupid C.I o 8w o aten aldhdwimgd

2
cr-si=p(; ] (3:5 ]
100 100

o 4 aumLmisEprdh@ S.Iopupid C.I. i Bui o aten alghadluirgd
cr-si-p(] o 2 (2]
100 100 \100
Simple interest on a sum of money for 3 years at 6% % p.a.is Rs 2400.

What will be the C.I on that sum at the same rate for the same period?




QM OFTmd 3 UBLSHSHD 6%% oewih el guled  OBETBHH  Heoll
Ul 19H0sTensd  h. 2400 908m FHTVHIMG 6FH el alHHHH60
DIFHOBHTNS H(HD Gnl (b UL SHT6wIs?

Find the difference in C.I and S.I for P= Rs 5000, R=4% p.a. and n=2 yrs.
P=ep. 5000, R= ouemi®Caxsmmid 4% wmpidb n=2 eummLmiser C.I oBpid S.I
B Buw 2 oo alSHHUWTFID SHT6wISH:

Find the difference in C.I and S.I for P= Rs 8000, R=5% and n=3 yrs.

P= ¢5.8000, R=5% oempC8srmid wipid n=3 eumLmiser C.I wppid S.I
AL Bw 2 _sften alSHHWITFID HT6wTss?

The difference between the compound interest and the simple interest

on a certain sum at 7% % p.a. for 3 years is Rs 110.70. Find the sum.

R QFTE 3 aUBLGHIH6L 7%%@39606[@ al guied QFHTBHS dnl Bl lp

B@ID  Heolal 9d OHTmsselear albHwuTFbd p. 110.70 DSHO0HTHHMUI
SBIT60015b:

The S.I on a certain sum at 4% p.a. for 2 yrs is Rs 25. Find the
corresponding C.I.

e GUIIL OFHTend 2 euHLEIB6T0 4% WG el lguled CBTHHS
Foll a9 OHTens ap. 25 Sipmarer C.lI. sremwis.

Find the ratio of C.I to S.I on a certain sum at R% for 2 yrs.
e GPUILL Oxtensds R% HHev 2 saumLmsefled Gamhosagd C.I wppid
S.I &G 2 6fen alFFHD HTewHISH:




